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Paper : DSC4

( Principles of Macroeconomics—II )
Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. oo frrna Bet w1t e Set 1 1x8=8
Answer the following as directed :
(a) ¥ I SINY FASq HESN S Bt |

Write the equilibrium condition for
goods market equilibrium.

(b) oS P BRewRE MU wE?

Which of the following statements is
true? ‘

(i) 1S AR 2AfSwBt R 7 ST I
R |
All points on the IS curve represent
equilibrium in the goods market.
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(2)

(i) 1S @I ARt Regrs e i e
i Rivaas s =1

All points on the IS curve represent
equality between aggregate demand
and investment.

(iii) 37 T IS @RITE FivrRRa ZAERS
A
An increase in tax shifts the IS
~ curve to the right.
(iv) €T 9oI8 T
None of the above
( w7 Seatht A Shreat )

( Choose the correct answer )

() e oifiwR sre
Define aggregate demand.
() T INE ‘
When taxes are reduced .
(i) A s Qe
AD increases
(i) AT AR AH
AS increases
(i) iR Skt S AR el DR A
Both AD and AS increase
(iv) e s qF R Qe

RTIGIEE dorfEe T
Neither AD nor AS is affected

( wm TeI S Ehieat )

( Choose the correct answer )
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(e) Okun I AReCH forst |
State Okun’s law.

(H =R P e 52

What is meant by dxsgulsed unem-
ployment?

(g) TF T TARYHT e B Ay S F|
Mention one difference between tariff
and non-tariff barrier.

(h) EEE e RS |l |
Define BOP.

2. &R R @I 5iRGR eiv® o Gt ol 4x4=16

Write short notes on any four of the
following :

(@ LM IR ZFAGITR IRITR

Factors causing shifts in LM curve

(b) vEPe e ok @
Classical aggregate demand curve

(c) RS FErdfs
Cost-push inflation
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(@) T& e FRIFR

(e)

3. (a)

(b)
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Advantages of free trade

- S oi ﬁ hed
Components of BOP

f5epiz IS WiIF LM GRIR SIaH “afous! el
F| = A T'E SFT TE YT WE WA
@S PR Ao/ #iRI? - 9+5=14
Derive graphically the IS and LM curves.

How will an increase in tax affect
equilibrium income and interest rate?

1Z31/Or

AD @3] I &Ry Raw | Ry oie
(PRI 7P SIS AD 1 FAFIRE |72
53R I M A P W wE w1 &
*ReS1 27, AD-AS WIf¥T RS It 7] |
5+4+5=14

Write about derivation process of the AD
curve. How and what factors will shift -
the AD curve? Explain, in the AD-AS
framework, how an increase in govern-
ment spending affects equilibrium
output and price.

{ Continued )

( 5)

4. (o) TrdRe Rise aory RRw SIS 4t

5.

(b)

(@)
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W WF TR R TEGR Raw g
1 P QIR I W
Regai J@ifeR R rgt 11 4+4+6=14

Write about various types of inflation.
Explain the relation between inflation
and interest rate. Also explain some
monetary measures used to prevent

-~ inflation.

FI331/0r

i Rfes oo 3w BFfeen @@=

LECHINR S e C I S i L B R
o bTht Remd 311 6+8=14

Describe about various types of
unemployment. Analyze the relation
between unemployment and inflation
with the help of the Phillips curve.

Wmﬁmqﬁmmw

R T RY O PR @Bl e
HITAGA SIS | . 14

Make a comparative analysis of the
absolute cost advantage theory and
comparative cost advantage theory of
international trade.
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F331/Or

(b) T& VG ATH ST Reles I R |

T4l SOy T I @37 60 AT o[

TAPTRY RAw e 1 5+9=14

Put your arguments in favour of and
against free trade. Discuss the
various measures used by a country
to ensure protection of domestic
industries.

(7))

F1331/0r

(b) TarEerR Cifde Rfvm 23 e ags Rfm

TR W g Bt Rivm 29 Pl
I Rw S w[ IS

TS TGS 41| 4+6+4=14

Distinguish, with examples, between
nominal exchange rate and real
exchange rate. Discuss the various
factors that affect the determination of
the exchange rate. Shed light on the

need of flexible exchange rate in
current world scenario.

6. (a) CWUTFRA FWOR ST {7 FRAA 5 e
JF A3 AT EOE ATOR Hlofe $el-
#% Rorr o gror w9 Rt g9
ARREH FETA GO O SRS goig
CRIR ST ? 6+3+5=14 | S

What are the different measures that
can be adopted to remove BOP
disequilibrium? Explain the signi-
ficance of the account of error-
omissions in BOP. How can changes in
exchange rate affect the various
accounts of BOP?
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